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¢ 12-13 AFvv 13 FAxvvS
CYS-1213 CYS-1213R CYS-1213B CYS-1213Y CYS-1213G CYS-120 CYS-1300
. 0 2
d16 Axvy7 RIEERFvvS
CYS-1600 N-16 TYS-108 TYS-108N TYS-108K TYS-113C TYS-113N
YN hyTREvvT
WTP;
650-RN 6500-A 605-RN 6400-A 6100-A
$%48% No. & RE g 2E {4
CYS-1213 PE 912~ p 13T RAMFa—THFxryS 1,00018/ &% ¥3,000
CYS-1213S PE (@) 912~ p13TRAMFa—THFxryS 1,0001E(1001& % 10%%)/ 58 ¥6,000
CYS-1213R PE DI 912~ p13TAMNFa—TRFxvyv7 1,0001E/ & ¥3,000
CYS-1213B PE 5 912~ p13TAMFa—TRAFxryv 7 1,0001E/ & ¥3,000
CYS-1213Y PE = 912~ p13TAMNFa—TRAFxrv7 1,0001E/ & ¥3,000
CYS-1213G PE % 912~ 13T AMFa—THFvvS 1,0001E/ & ¥3,000
CYS-120 PE G 12T ANFa—TAEvy T 1,0001E /8 ¥8,500
CYS-1300 PE G 13T AMFa—TAEvv T 1,0001@/ £ ¥3,000
CYS-1600 PE 16T AMF1—TAHEvv T 1,0001@/ £ ¥4,000
CYS-1600S PE (@) G 16T AMF1—TAEvv T 1,000EI(1001& x 104%)/ %8 ¥8,000
N-16 PE G 16T AMF1—TAXvvT 1,0001@ /£ ¥5,000
N-16S PE O Q16T ANF2—TAFxvv S 1,0001EI(1001& x 104%)/ %8 ¥10,000

TYS-108 PE = FRIEEAEYY1.5m)Exvy S 1,0001E (1001& x 10%%) /& ¥5,000
TYS-108N PE =] FRIEERE Y Y11 5m)Bxvy T 1,0001E (1001E x 1048) /4% ¥5,000
TYS-108K |ITSRh<— = FRIEEREVYAT YT 1,0001E /£ ¥5,000
TYS-113C PE B RIEEREYY(10.0mDAFryS 1,000 (1008 x 104%) /£ ¥5,000
TYS-113N PE =] RIEEREYY(10.0m)AFryS 1,00018 (100E x 10£%) /4% ¥5,000
#1404 NO. ME =) R i Llitky=y
650-RN PE A+ — 650-RHH 1,000 /& ¥5.000
6500-A PE T3 — 650-RH 1,000{E /% ¥11,600
605-RN PE VAL 605-RH 1,0001@ /%= ¥5,000
6400-A PE VAL 640-R645-RFA 1,000{E/ % ¥10,200
6100-A PE T 53— 610-RHF 1,0001E/ % ¥5,000




